0000000000000 D0 |adiabatic-change2-qa090109.tex

OooooooboobbobouoboonD p, 000 VOOODO pVY = constant [0 00 0
hooooboooooooooooooooooo rTooooooooc,ooooon
00C,0000000000000~+0y=C,/C,(>1)0000000000000

1.00000000000000000(00000000 ROOOO M
2.T,V,yO0OOODOOOOOO
3.000000000 (T, W) — (T, V) 0000000000000

4 00000000000000V,<1,0000000000000000
5.000000000000000W>%0000000000000000

Coo)
1. pV = RT.
2.00000000000000oobbouooon

RT

—)V7 = constant

&

tant

— TV = wzconsmm'. (1)

3.0000

T1V17_1 = TQ‘/QW_I
v—1
-7 - @
Vi Ty

4.000~>10000Vi< V00007, >, 00000000000000000
gogooood

.0l y>10000V, >V,U0000Ty < ,000b000000b000b000b000
gogooood



